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QUESTION 1

Given the following PowerCLI script: 

Which parameters will successfully create a new virtual machine in VMware Cloud vCenter? 

A. $VMCVMFolder = "VMs" $VMCResourcePool = "Cluster-1" $VMCDatastore = "workloadDatastore" 

B. $VMCVMFolder = "Workloads" $VMCResourcePool = "Cluster-1" $VMCDatastore = "vsanDatastore" 

C. $VMCVMFolder = "Workloads" $VMCResourcePool = "Compute-ResourcePool" $VMCDatastore =
"WorkloadDatastore" 

D. $VMCVMFolder = "Workload" $VMCResourcePool = "Mgmt-ResourcePool" $VMCDatastore = "workloadDatastore" 

Correct Answer: C 

$VMCVMFolder = "Workloads" $VMCResourcePool = "Compute-ResourcePool" $VMCDatastore =
"WorkloadDatastore" 

Reference: https://cloud.vmware.com/community/2019/07/03/vmware-cloud-aws-providing-customersflexibility-role-
based-access-control-vcenter/ 

 

QUESTION 2

A virtual machine in a protection group has the following error: 

"Device Not Found: CD/DVD drive". 

Which step must be taken to remove the error? 

A. Choose "Remove protection". 

B. Choose "Configure protection" and map CD/DVD drive to recovery host CD/DVD drive. 

C. Choose "Recreate placeholder". 

D. Choose "Configure protection" and detach CD/DVD drive. 

Correct Answer: A 
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QUESTION 3

Which statement describes multi-site topologies for VMware Cloud on AWS DRaaS? 

A. Multiple remote sites that could be configured each to recover to individual VMware Cloud on AWS SDDCs. 

B. Multiple remote sites that could be configured each to recover to a single shared VMware Cloud on AWS SDDC. 

C. A single shared remote site that could be configured to recover to a single VMware Cloud on AWS SDDC. 

D. A single shared remote site that could be configured to recover to individual VMware Cloud on AWS SDDCs. 

Correct Answer: B 

In a multi-site topology, you have multiple remote sites that you configure to recover to or protect from a single, shared
VMware Cloud on AWS SDDC. 

Reference: https://docs.vmware.com/en/VMware-Site-Recovery/services/ com.vmware.srmaas.install_config.doc/GUID-
BC46053B-644C-420B-BC68-B71D450711A5.html 

 

QUESTION 4

What is the minimum Recovery Point Objective (RPO) supported by VMware Cloud on AWS DRaaS? 

A. A workload with a 15 minute RPO 

B. A workload with a three minute RPO 

C. A workload with a 30 second RPO 

D. A workload with a five minute RPO 

Correct Answer: D 

Reference: https://www.storagereview.com/news/datrium-offers-draas-with-vmware-cloud-on-aws 

 

QUESTION 5

What are three reasons for using HCX with VMware Cloud on AWS? (Choose three.) 

A. Migrate virtual machines 

B. Upgrade operating systems 

C. Install OVF 

D. Upgrade virtual machine compatibility 

E. Extend Layer 2 networks 

F. Deploy applications 

Correct Answer: ABE 
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Reference: https://aws.amazon.com/blogs/apn/migrating-workloads-to-vmware-cloud-on-aws-with-hybridcloud-
extension-hcx/ 

 

QUESTION 6

Which two statements are true regarding the Managed Services Provider (MSP) Program for VMware Cloud on AWS?
(Choose two.) 

A. The level of service provided by VMware and AWS will be mutually agreed for each MSP contract. 

B. In the MSP model, the VMware partner owns all support requests by customers and only escalates to VMware when
necessary. 

C. In the MSP model, VMware partners have direct access to AWS support. 

D. VMware Cloud Provider Hub assists partners with delivering and managing VMware Cloud on AWS services. 

E. VMware Cloud on AWS MSP partners get exclusive access to the ESXi hosts, which cannot be shared or sub-
provided to customers. 

Correct Answer: AC 

 

QUESTION 7

Which statement is true about HCX Bulk Migration? 

A. Virtual machines must be powered off to initiate replication. 

B. The HCX Bulk Migration maintenance window could be scheduled. 

C. HCX Bulk Migration requires that vMotion be fully configured. 

D. Extended Layer 2 networks are required for each virtual machine. 

Correct Answer: B 

Scheduled migration option, the switchover can occur during a maintenance window. 

Reference: https://docs.vmware.com/en/VMware-HCX/services/user-
guide/GUID-20EA2946-57CD-4A87AE25-866E5336AEA9.html 

 

QUESTION 8

What is the proper calculation used to determine the bandwidth requirement for vSphere Replication? 

A. VMs datastore size divided by the link speed 

B. Peak data change rate within a Recovery Point Objective (RPO) period divided by the link speed 

C. VMs datastore size divided by recovery time objective (RTO) 
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D. Average data change rate within a Recovery Point Objective (RPO) period divided by the link speed 

Correct Answer: D 

To determine the bandwidth that vSphere Replication requires to replicate virtual machines efficiently, you calculate the
average data change rate within an RPO period divided by the link speed. 

Reference: https://docs.vmware.com/en/vSphere-
Replication/6.0/com.vmware.vsphere.replicationadmin.doc/GUID-4A34D0C9-8CC1-46C4-96FF-3BF7583D3C4F.html 

 

QUESTION 9

VMware Cloud on AWS includes which two of the listed NSX-T networking constructs? (Choose two.) 

A. Tier2 Router 

B. Tier1 Router 

C. Tier0 Router 

D. Edge Services Gateway 

E. Distributed Logical Router 

Correct Answer: CE 

 

QUESTION 10

A customer wishes to deploy a new application on VMware Cloud on AWS. This application will consist of several web
servers and application servers. The data on the application services needs to be backed up regularly and backups
must be stored outside the SDDC to meet compliance. The backup solution should be able to support full VMDK
restores as well as file restores. A recovery time objective (RTO) of 5 hours is required for backups up to 30 days old.
After 30 days, the RTO of a backup is 48 hours. 

Which solution will meet the requirements more efficiently? 

A. Deploy a third-party backup solution from a supported VMware ISV partner. Store backup jobs to Amazon Simple
Storage Service (S3) or an Elastic Compute Cloud (EC2) instance with an attached EBS drive. After 30 days, migrate
backups from S3 or EBS to Amazon Glacier. 

B. Deploy a third-party backup solution from a supported VMware ISV partner. Store backup jobs to the local on-
premises SDDC, and once the backups reach 30 days old, transfer these backups to tape libraries. 

C. Deploy two SDDCs in two separate regions. Set up Site Recovery between the two SDDCs and configure vSphere
Replication to take snapshots of the virtual machines every 15 minutes. 

D. Deploy an SDDC cluster in stretched mode expanding across two availability zones in the same region. This
configuration provides the lowest RTO possible. 

Correct Answer: A 

Reference: https://d0.awsstatic.com/whitepapers/Backup_and_Recovery_Approaches_Using_AWS.pdf 
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